asym_usl

asym_dsl

asym_usr

asym_dsr

run3353 000 regression—asym maindet

3000

2000

1000

=1000

=2000

=3000

=4000

=5000

10 -5 0 5 10
diff_bopm4aX/um

3000

2000

1000

=1000

=2000

=3000

=4000

=5000

10
diff_bpmdax/um

EEDD

2000

1500

1000

500

=500

=1000

=1500

=2000

10
diff_bpmdaX/um

di

2000

=
E

=
IIIIIIIIIIIIIIIIIIIIIIlIII

1000

=1000

=2000

=
LI I I 1T T 1 I I 1T T 1 I LI L I LI L I T 1T 1

—25(

—(200

15(

100

— 200

—18C

—16(

=14

12(

100

2

20

—10¢

20

—1&C

—100

20

3000

2000

1000

=1000

=2000

=3000

=4000

5000

:
E

-15

=10 -5 1] 5 10 15 20

diff_bpmda¥ium

:

3000

2000

1000

=1000

=2000

=3000

=4000

2 1y

5000

1[jlil
2500
2000
1500
1000
500

1]

- 500

=1000

=1500

15

=10 -5 1] 5 10 15 20

diff_bpmda¥/um

=2000

2000

1000

=1000

=2000

—15

=10 -5 1] 5 10 15 20

E
E

diff_bpmdaYium

II|IIII|IIII|IIII|IIII|_|_III|IIII|IIII

15

10 -5

a\"."u rnv

16(

14

120

100

0

14(

120

100

20

0

12(

100

20

0

160

140

120

100

20

3000 |- — 20
2000 —{18(
1000 F- —| 8L
: —14¢
oy
-1000
~2000
~3000
-4000
- " . 20
~5000 m
-|III|IIII|IIII|IIIIIIIII|IIII|IIII|IIII|IIII|IIII ﬂ
-50 -40 -30 -20 -10 O 10 20 30 40 50
diff_bpm4eX/um
d'
- —22(
3000
: —20¢
2000 |- —{18(
1000 —{16(
- —14¢
(U
~1000
2000
~3000
- m
~4000
. g I 20
EDDDIIII|IIII|IIII|IIIIIIIII|IIII|IIII|IIII|IIII|IIII ﬂ
50 -40 -30 -20 -10 O 10 20 30 40 50

'[jlhl
2500
2000
1500
1000
500
1]
=500

=1000

=1500

diff_bpmdaX/um

—10C

.i H BN 30

2000 Cornr b bvrvr b bvrr b brvr bewvon bvvea e 0

-50

di
2000

1000

=1000

= 2000

=
IIIIIIIIIIIIIIIIIIIIIIIIII

s diff ‘Bpm-e

-40 -30 =20 10 0 10 20 30 40 50

diff_bpmdeX/um

F
1

—10C

3000

2000

1000

= 1000

= 2000

=3000

=4000

= 5000

I
—

= 1000

= 2000

=3000

=4000

c,IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

-5 0 5 10
diff_bom4eY/um

= 5000

diff

2500

2000

1500

1000

500

=500

= 1000

= 1500

10
diff_bpmdaY/um

_bpmdeY

-Eﬂﬂg1

2000

1000

= 1000

= 2000

diff_bpmdeY

0 -5 0 5 10
diff_bpmdeY/um

—14(

—12(

—{100

20

—12(

— 100

20

—100

20

—12(

— 100

20

1.Z postpan.p

3000

2000

1000

=1000

= 2000

=3000

~4000

=5000

3000

2000

1000

=1000

= 2000

=3000

=4000

~5000

diff_bpm12X/um

-60 -40 =20 (1] 20 40 60 a0

diff_bpm12X/um

d'

2500

2000

1500

1000

500

1]

-500

=1000

=1500

2000 &

-60 -40 =20 0 20 40 60 a0

diff _

2000

1000

=1000

= 2000

diff_bpm12X/um

-6 -4 -20 (1] 20 40 60 a0

ng

diff_bpm12X/um

25(

200

150

100

22(

200

18(

160

14(

12(

100

80

60

40

20

0

160

14

12(

100

40

20

0

2210

200

18(

16(

140

120

100

2



reg_asym_usl

reg_asym_dsl

reg_asym_usr

reg_asym_dsr

run3353 000

:
E
:
E
:
E

600

200

=200

~400

=
IIIIIIIIIIIIIIIIIIIIIIIIIII

-600

10 -5 0 5 10
diff_bopm4aX/um

200 —

-200 —

~400 —

L vy v by by v by gy g
_EﬂD—1D =5 L 5 10

diff_bpmdax/um

200

p

=200

- 400

-600

=
IIIIIIIIIIIIIIIIIIIIIIIIIIII

10 -5 0 5 10
diff_bpmdaX/um

200

=200

=400

=
IIIIIIIIIIIIIIIIIIIIIIIIIII

=600

-m

—100

20

— 100

20

—100

20

—100

20

= | = — S0
600 100 600 — u
| - | i i
1 -I‘-'DD_ % 4‘DD_
- —80 - —70
boL o by
2001 200
i 60 S
o o
i | =
_200 40 _200 u u
| - |
~400 = 20 ~400 =
n L rll 10
—g00 — -B00 —
o b b bevr s b b braaa banag 0 ol bbb b b b b e 0
=15 =10 =5 O 5 10 15 20 =50 =40 =30 =20 =10 O 10 20 30 40 50
diii_bpmdaYium diff_bpmdaX/um
— — — a0
E-EID_— - ... E-DD_— -
. 400 _ 400
I = | | = —G60
1 Bl 1
200 [ | 200
- = B
| [ |
o o
- 4{} -
- 200 — [ ] -200 —
= = 20
400 - 20 400 -
i i 10
| n [ |
—E{}D_"l""l""l""l""l""l""l"" 0 —E-DEI""l""l""l""I'”'l'”'l""l””l""l"" 0
-15 =10 =5 1] Lo 10 15 20 =50 40 =30 =20 10 O 10 20 30 40 50
difi_bpmda¥ium difi_bpmdeXsum
d' dlf. f hpmélﬁL
| | I
N n [ | —30
600 [— . - —|1o 600 |- ... -
| L .ll | L — B0
T o400 © o400
| = —80 | = —70
1 B . 1 B
200 - [ | 200 -
- [ | - &0 - [ |
o L o
- = . [ m
200 m 40 200 - m
. | .
~400 20 ~400
i i m 10
G lvvabv o bevrr bera b b baaag 0 Dol b b bvvor v v b bevea ba e 0
—15 =10 -5 1] L 10 15 20 50 40 =30 =20 =10 O 10 20 30 40 50
diii_bpmdaYium diff_bpmdaX/um
i — —{1or i — —lap
E-EID_— n . n EDD_— .
R R —80
| n | n
% 4‘[:":'_ — % 4‘DD_
- 8 - —{70
| - | =
1 | 1 |
200 - - 200 —&0
: - . :
e : 0 or
- m -
=200 =200 —
B J- B
—4{?0_— 20 —4{?0_—
—g00 — =800 —
Y ||||||||_|_|||||||||||||||||||| I

regression-reg main

r det ""’ng dlf "'.'"“';L;"',flﬂ"'JJ&"'A"""'@"'

 POS

« 400

=200

200 4
-400

10 -5 0 5 10
diff_bom4eY/um

400

200

- 200

- 400

-600

10
diff_bpmdaY/um

diff

hpmélcY

600
400

200

=200

:
IIIIIIIIIII

10 -5 0 5 10
diff_bpmdeY/um

600

:
1

« 400

200

=200

~400

'|"'|"'|"'j"'|"'|"'|'

=600

Ery

—10¢

20

20

10

20

10

Z

S

20

10

stpan:pnge

:
:

= R
600 — n
| [ |
. 400 10C
| i
N [ |
:mn—f —{80
II]_— I. .. B0
~200 L
- m 40
i n
~400
| 20
~BO0
1 1 1 | L1 1 I L 1 1 | L 1 1 | 11 1 | L 1 1 | 11 1 ﬂ

60 40 -20 O 20 40 60  BO
diff_bpm12X/um

diff_bpmi2X
L

600
' — 100
400
]
200 | —80
0 " &0
m
200 ] 40
=400 20
—E-'DD _I L1 | L1 1 I L1 1 | L1 1 | L1 1 | L1 1 | L1 1 ﬂ
60 -40 =20 0 20 40 60 80
diff_bpm12X¥/um
diff_bpm12X
- I — 140
600
! - —{12(
Co400
I -
! i —10€
200 — [ |
B [ |
D -
i B0
- 200 ol
[ O 40
~ 400
- 20
~600 -
FEEE R R N NN N 0
60  -40 =20 0 20 40 60 80
difi_bpm12X/um
diff_bpm12X
B I
600
R —12(
| [
% 4‘[”:' I
- —10€
oo
200 — -
| = BO
0 m ]
| - m 60
- 200 -
i 40
~400
5 20
~600 - m o
1 1 1 | L1 1 I L 1 1 | L 1 1 | 11 1 | L 1 1 | 11 1 ﬂ

-6 -4 -20 (1] 20 40 60 a0
diff_bpm12X/um



asym_usl

asym_dsl

asym_usr

asym_dsr

run3353 000 regression asym main

%

_bpm4aX

- 72 ndf 31.41 /34
so0o
: i
2000 E- 'L\-ﬁ po -0.2778 £ 41523
: Y
1000 | p1 -296.8+2.2
0
-1000
2000 | HJr’r i
-3000 -
4000 |-
B }
5000 -
il | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 I 1 1 1 1 | 1 1
10 -5 0 5 10
diff_bpm4aX
000 - 12/ ndf 30.61/34
- 1
2000 b f \h p0 -0.5816 + 3.8880
: i
1000 — pi 284520
oF
~1000 |
- |
~2000 B
3000 -
4000 }
:I | L1 1 1 | L1 1 1 | L1 1 1 I L1 1 1 | _I |
10 5 0 5 10

diff_bpm4aX

¥2 / ndf 25.02 / 34

p0 8.8/5 5034 {+
p1 48.5+26 wﬂ-_
u:— M
500 [ {w
1000 F -
-1500 | )
A A I A AN AN AN A AN T A AN A |j !
=10 =5 1] 5 10

diff_ bpm4aX
¥2 / ndf 27.26 / 34

p0 8.315 1 4.870

p1 12.76 £ 2.54 {#
FThoreet
~500 B
~1000 —
1500 — -
-2000 —
:l 1 1 | 1 1 1 1 | I I | I 1 1 1 1 | -| |

%
%

. %2/ ndf 39.47 / 31
2000 1
N p0 -0.1009 £ 6.7819
1000 FHH#
- p pt ~98.28 £+ 2.25
o \‘GM
1000 [ *HT ]l
2000 | } -
3000 i
4000 _
-E.DDD__Illllllllllll||||||||||||II|IIII|III_I|I

-15 =10 =5 0 5 10 15 20

1
%

%2 I ndf 38.86 / 31
2000

|
—_—
[ T

p0 -0.2215 £ 6.5196
1000

_._:FI
=

p1 -898x22

=1000

=2000

=3000

=4000

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
==
4

-15 =10 =5 (1] 5 10 15 20

iff bpmdaY

"-"1

¥/ ndf 26.93 / 31
2000

+
1500 pO 4.027 = 4.594

1000 -67.57 £ 1.54

H p1

500

~500

i
iy

=1000

=1500

pec v bvvrr b bvvre bvrvr v o by
15 =10 -5 (1] 5 10 15 20

[ - ¥2 / ndf 27.01/ 31
2000
i p0 3.447 + 4151
1000 — H+ p1 —74.69+1.39
- }* f
o
i i 4
1000 -
: i
-2000 o B
_III|IIII|IIII|||||||III|J_|_II|IIII|IIII|I
15 10 5@

det ‘vs diff ‘bpm-fit

3000 | —
[ C —__Jr ¥Z [ ndf 27.25/ 40
2000 w,r
- i p0 5.435 + 3.955
1000
5 p1 —60.26 £ 0.42
o
-mnnf—
- .
-2000 hrh""‘l
N T*'
~3000
4000
‘I|||||||||||||||||||III|||||||||II|IIII|IIII|-IIII

-50 -40 30 -20 -10 O 10 20 30 40 50

3000 | —
E - ¥= [ ndf 27.76 / 40
2000 J']LH
: b p0 5.023 + 3.557
1000
B p1 —58.54 + 0.38
0
1000 |
- Hy
~2000 | m‘dﬂ{_
~3000
~4000 [ _
_I||||||||||||||||||||||||||||||||||||||||||||||||

50 -40 <30 -20 10 O 10 20 30 40 50

diff_bpmdeX

¥Z / ndf 47.51 /40

p0 7.301 % 4.350 |

o1 26.1+ 0.5
oF
R | ++ f
-mnn:— ) {F]l -
;III'IIH'IIII|HII|IIIIhllllllHlIIIIlHIIlIIH

50 -40 <30 =20 <10 O 10 20 30 40 50

diff_bpmdeX

¥Z / ndf 45.21 /40

p0 7.236 + 4.504 +H
p1 17.92 + 0.47 M !

|
T

%

2000

1000

= 1000

= 2000

=3000

bpmdeY

= x2/ndf  31.65/37
_ _ p0  3.718+7.414
- H ! p1 -65.22 + 3.87
: WM }
[ J:}H -

2000

1000

= 1000

= 2000

= 3000

_ o ¥2/ndf  31.45/37
; p0 3.381+ 7.078
:‘ H ! p1 -56.81+3.70
SR W

i * }

: i y
Er,...|....|....|..'..|.
=10 =5 ] 5 10

diff_bpmdeY

2000

1500

1000

500

-500

= 1000

=1500

: 2 /ndf  27.85/37
: p0 5107 = 4.653
: { o1 1014425
] H‘h

NI BT AT R RN BT AT [

=10 =5 1] 5 10

2500

2000

1500

1000

500

1]

-500

=1000

—1EDD

diff_bpmdeY

¥Z / ndf 27.07 /37

pO 9.005 £ 4.345

p1 -103+223

M_

10

postpan.png

%

_bpm12X

- %2 / ndf 32.95/25
3000

oo - - PO -4.134 %5457

1000 # p1 -56.9 £ 0.7

=1000

= 2000

=3000

~4000

=5000

2

-40 =20 0 20 40

diff_

Z
g

3000 — ¥2 [ ndf 32.99/ 25

2000 - M p0 -3.863 + 5.351
_ -t

1000 # p1 —52.41+0.64

(1]

=1000

=2000

=3000

=4000

-60 -40 =20 (1] 20 40 60 a0

diff _

F - ¥2/ndf  30.25/25
2000
- +
w0 - B p0 2.355+4179
1500 f_ de‘r p1 -31.59 £ 0.50
C i
500
of
—EHDE'
_ -ﬁp+
[ + -
=1000 — -
; i
~1500 ]
N NN N NN N R ||_||

-60 -40 =20 0 20 40 60 a0

[ ¥2/ndf  28.09/25
2000 —
[ - p0 1.687 + 3.506
1000 [ HHL,#{} p1 ~35.96 + 0.42
o
I ol
=000 B ﬁqn_
_2000 |- )
i 1 1 1 | 1 1 1 I 1 11 | 1 11 | 1 1 1 | 1 1 1 | I-I |

-6 -4 -20 (1] 20 40 60 a0



reg_asym_usl

reg_asym_dsl

reg_asym_usr

reg_asym_dsr

run3353 000 regression reg maindet’ vs

diff_bpm4aX

w2 / ndf 48.68 / 34
po 0.1802 + 1.5950 )

p1 0.5676 + 0.8413

diff_bpmdaY

i ' ¥
_— ]

: 1 )
100 [
—a00 |
-300 [ | )

1 | | I I | | | I I | | L1 1 1 I | I . | | 11

10 5 0 5 10

E ! ndf 52 66 / 34

po 0.3039 = 1.5012 -

p1 0.4637 + 0.7919

[ || |

} i

1= | nof 2615/ 3

p0 01117 £1.68012

p1 0.4241+ 0.5348 | }
T

o [\ 4} A t

100 |

-200 | )

-300 )
:||||||||||||||||||||||||||||||_||||||||||

diff_bpmdeX

%2/ ndf 50.43 / 40
p0 0.745 + 1.596

p1 01317 £ 01711

-15 =10 =5 0 5 10 15 20

diff_bpmdaY _

| JWWNWW

=10 -5 0 5 10

diff_bpm4aX

%2 | ndf 27.11 1 31

po 0.2128 = 1.5109

pl  0.4542 +0.5070 } } _
0

=100

i

— 200

=300

100

=100

=200

=

T T T T T [ T T T T[T T T 1]
—,
—_— =

ol b b b b e v B e
50 -40 -30 20 <10 O 10 20 30 40 50

diff_bpmdeX

%2/ ndf 58.88 / 40

po 0.9469 + 1.5038

pi 0.1141 + 0.1617

LI N I O I L L I B
-
1
-+

-15 =10 =5 (1] 5 10 15 20

diff_bpmdaY

%2 [ ndf 26.49 7 31

po 0.3868 + 16158

300 ¥2  ndf 3555/ 34

I pO 0.6248 + 1.6133
200 |-

- - p1 —0.01513 + 0.85629
100 — |

_ s l |

ﬂ_

i t
100 i
_2.|}|:|:I—|IIII|IIII|IIII|III_I|II

10 -5 0 5 10

¥< { ndf EE B3/34
pO 0.4752 + 1.6349

p1 0.02861 + 0.85909

100

H H-

=100

=]
LILEL I I 1T T 1 I 1T 1T 1 I T

50 -40 <30 -20 10 O 10 20 30 40 50

diff_bpmdeX

Pl 0.3629 + 0.5443 | )
EEE
ﬂ:_ [ ‘ f }{
-mn:—_ -
—E[?EI:— -'
_31}[];|||||||||||||||||||||||||||||||||||||||

-15 =10 -5 0 5 10 15 20

diff_bpmdaY

iy !

%% | ndf 27.32 /31
p0 0.1932 + 1.6421
p1 0.4495 + 0.5511 i
l ‘ | | |
¢ ”WWW%M“ - ]

|

=100

=200

%2 [ ndf 61.52 /40
p0 0.8495 + 16173 -
pi 0.0427 £ 01717 }
- ||} |
. L H it

1

) |

b brrvr b bvrer b v bewvnn bvvaa e
50 40 =30 =20 =10 O 10 20 30 40 50

diff_bpmdeX

=100

=200

‘III|III|IIII|II|_|_|IIII|IIII|IIII|IIII|I

- diff “Bpicfit post

¥2 | ndf 55.77 / 40
p0 0.7184 + 1.5426 }
p1 0.03533 + 0.17419 | }
ol
oo “ } }
=200 -—
i

diff_bpmdeY

diff_bpm12X

+2 | ndf 27.37 /25
p0 —0.4759 + 1.5945
p1 0.3306 + 0.1897 H {

_ , )

of H“ T +

: " } :
100 '
-E{:ID_— )

_I 11 | L1 1 I L 1 1 | L 1 1 | 11 1 | L 1 1 | I_I |

-60 -40 =20 0 20 40 60 80

diff_bpm12X

¥2 | ndf 25.94 /25

po —0.348 + 1.505

p1 0.2393 * 0.1805 ’{ -

T Ty

spf

-mnf— _ _

-1502— -

-Emf— )
Lo by b b b b by

-60 -40 =20 (1] 20 40 60 a0

diff_bpm12X

2 | ndf 21.67 /25
p0  —0.06056 + 1.61295
pi 0.1052 + 0.1928 l
- IF W '
o0 H LM -
S 1
100 - H |
-zﬁnf— )
-:mn:— _ i
N I I AT AN A A

-60 -40 =20 0 20 40 60 a0

diff_bpm12X

| 12 ndf 3373737
200 p0 0.5523 £ 1.5990
i J p1 -0.1396 £ 0.8375
0o - |
Sy H
of } HWWW # H
100
- 200 — +
-I | | 1 1 | | 1 1 1 | | | 1 1 I | | 1 1 | |
10 -5 0 5 10
diff_bpmdeY
200 12/ ndf 31.43/37
150 p0 0.5921+ 1.5078
100
- p1 01725 £0.7918
o - |
: ok
oF
~50
100 |-
~150 — i {
~200
:| | | 1 1 | | 1 1 1 | | | 1 1 I | | 1 1 | |
T -5 0 5 10
diff _bpmdeY
300 - 22/ ndf 34.3/37
[ - p0 0.4006 £ 1.6158
200 [
- p1 -0.35811=£0.8612
100 - |
- H | { +_
ﬂ —
i i * b | -
00|
i ; ]
~200 [
~300 I Y T U T N W A T T SN U A N O M N O
T -5 0 5 10
:_ 72 ndf 26.06 /37
[ p0 0.1482 £ 1.6444
200 -
i p1 -0.3649 £ 0.8772
100 - | 1
ol H 1 t ' {
: M‘ t }
-100 |-
300 —
I | | 1 1 | | 1 1 1 | | | 1 1 I | I_I | | |

A0

pan.png

10

7=/ ndf 2291725

p0 —0.1488 = 1.6389

p1 0.1756 £ 0.1951

1o

n t
II]:— ] |- h"lmﬂ*w ﬁﬁ-}ﬁ ) ] -

100 {
~200
-E.I}D__lllllllllllll|||||-|||||||||

-6 -4 -20 (1] 20 40 60 a0



3n00 - 3000 apoo - apo0 | aooo
2000 2000 2000 2000 2000 —
1000 1000 | 1000 1000 1000 |
oF o oF o o
l -1000 -1000 -1000 -1000 -1000
EIS:; lll_ I'IS ~2000 ~2000 ~2000 ~2000 | ~2000
-ano0 | -a000 | -3000 ~apo0 | ~a3000
-4000 -4000 -4000 -4000 -4000
-5000 ~5000 -5000 ~5000 -5000

-|II II|I III| 1 1 1 1 |III III —II|IIII|IIII|IIII|IIII|IIII|IIII|IIII -|III|IIII|IIII|IIIIIIIIIlIIIIlIIII|IIII|IIII|IIII | | | | | | | | 1 | | | 1 | | | 1 | | | —III|III|III|III|III|III|III

-10 -5 0 5 10 -15  -10 -5 0 5 10 15 20 50 40 -30 -20 -10 O 10 20 30 40 50 -10 -5 0 5 10 60 -40 -20 0 20 40 &0 80
diff_bpmdaXium diff_bpmdaYium diff_bpmdeX/um diff_bpmdeY/um diff_bpm12X/um

=

N N N N — N
3000 3000 3000 3000 3000
2000 2000 2000 2000 2000
1000 | 1000 1000 | 1000 | 1000
= = o ofF ' =
S ]Sl ~1000 ~1000 ~1000 ~1000 ~1000
j — 2000 2000 2000 -2000 -2000
3000 ~3000 ~3000 ~3000 ~3000
4000 | 4000 4000 | 4000 | 4000
—-5'DDDZ|II II|I III| 11 1 1 |III III _E.DDD:II|IIII|IIII|IIII|IIII|IIII|IIII|IIII EDDD:IIII|IIII|IIII|IIIIIIIII|IIII|IIII|IIII|IIII|IIII —-S'DDDZI | | | | | | | 1 | | | 1 | | | 1 | | | _E'DnnzlllllllllllllII|III|III|III
10 -5 0 5 10 15 -0 -5 0 5 10 15 20 50 -40 -30 -20 -10 0 10 20 30 40 50 10 5 0 5 10 60 40 -20 O 20 40 60 80
difi_bpmdaX/um difi_bpmdaYium difi_bpmdaX/um difi_bpmdaYium difi_bpm12X/um
. . ff . ff . . ff
2500 — 2500 2500 2500 — 2500
2000 2000 2000 2000 2000
1500 | LTI 1500 [ 1500 | 1500 | SRCATEE 1500 |
1000 1000 1000 1000 | 1000
500 500 500 500 500
asym_usr oF oF oF ok oF
— - - - - -
=500 =500 — =500 =500 =500 —
-1000 . -1000 -1000 ~1000 ~1000 |
1500 L o ~1500 R ~1500 | 1500 S ~1500 :
-E{Fﬂlﬂzl" AN A N N T N N [N T M N M M —E{?DD:"ll”'l""l""l""l”"l""l"" —E{?DD:"”l"”l”"l”"I'”'l'”'l"”l"”l”"l”" -E{FDU:' I N N N TN N N T A N N T M N O O A | _Eﬂnn:|||||||||||||||||||||||||||
10 -5 0 5 10 15 -0 -5 0 5 10 15 20 50 -40 -30 -20 -10 0 10 20 30 40 50 10 5 0 5 10 60 -40 -20 O 20 40 60 80
difi_bpmdaX/um difi_bpmdaYium difi_bpmdeX/um difi_bpmdeYium difi_bpm12X/um
. . ff . [bf . . ff ] ] 2 2{
B | B B B B [
2000 2000 2000 2000 2000
1000 1000 |- 1000 1000 1000 |-
d o o o+ o o
asy S : : : : :
-1000 ~1000 ~1000 ~1000 | ~1000
-2000 ' ~2000 — ' ~2000 [~ ' - 2000 ' ~2000 —
III 1 1 1 1 |III III II|IIII|IIII|IIII|IIII II|IIII|IIII IIII| IIIIIIlIIII|IIII|IIII|IIII|IIII i | | 1 | | | 1 | | | _III|III|III|III|III|III|III

run3353 000 resression—asym maindet-vs diff ‘bpm:scat postpanpng = s



reg_asym_usl

reg_asym_dsl

reg_asym_usr

reg_asym_dsr

run3353 000 re

600

« 400

200

=200

~400

-600

600

400

200

- 200

~400

-600

0 5 10
diff_bopm4aX/um

400

200

=200

- 400

-600

« 400

200

=200

=400

=600

0 5 10
diff_bpmdax/um

0 5 10
diff_bpmdaX/um

[ 4
10

L
-5

gression-re

||||*||||I||||I|

.

L

.

600

400

200

=200

~400

- 600

600

400

200

=200

=400

- 600

600

400

200

=200

=400

- 600

600

400

200

=200

~400

=600

15 10 -5 0 5 10 15 20
diff_bpmda¥ium

=15 =10 -5 1] 5 10 15 20
diff_bpmda¥/um

1§ 10 -5 0 5 10 15 20
diff_bpmdaYium

TR T PR SR T
- maindet-vs dif

600 —

400 -

200

-200

~400 —

~g00 —

_IIII|IIII|IIII|IIIIIIIII|IIII|IIII|IIII|IIII|IIII
50 -40 -30 -20 -10 O 10 20 30 40 50
diff _bpmdeX/um

600 —

400~

200 —

-200 —

~400 —

—E-DD_"“l””l“”l”"Ill”ll“'l”"l””l””ll”'
50 40 <30 20 10 O 10 20 30 40 50
diff_bpmdeXium

400 —

200 —

=200 I~

~400 —

600 —

Dol b b bvvor v v b bevea ba e
50 40 =30 =20 =10 O 10 20 30 40 50
diff_bom4eX/um

400

200

=200

400 —

600 —

IIII|IJ_LI|IIII|IIIIIIIII|IIII|IIII|IIII|IIII|IIII

bpm-scéat

400

200 -

-200 -

~400

=10

600 —

400~

200

-200

- 400 —

-5 0 5 10
diff_bom4eY/um

_E{?EIH}

600 —

400

200 -

- 200

~400 —

-5 1] 5 10
diff_bpmdaY/um

=10

400

200

=200

400

600

-5 0 5 10
diff_bpmdeY/um

10

POS

:

pan.png’

.

L

.

600 —

400 —

200 —

200~

400 —

600 —

600 —

400 —

200

=200 —

~400 —

diff_bpm12X/um

_E_Dnlllllllllllll

600 —
400

200~

-200
400 —

600 —

diff_bpm12X/um

600 —

400 —

200 —

=200

400 —

600 —

diff_bpm12X/um

diff_bpm12X/um




